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Division—1
1. 30677 + 11, find the quotient and the remainder.
a) 2788 and 9 b) 2688 and 9
c) 2688 and 6 d) None of these
2.75246 + 10, find the quotient and the remainder.
a) 7524 and 9 b) 7524 and 6
c) 7525 and 9 d) None of these
3. 675000 =+ 39, find the quotient and the remainder.
a) 17307 and 72 b) 17370 and 27
b) 17307 and 27 d) None of these

4. what is the least number to be subtracted from 300000 so that 58 divides the difference
exactly?

a) 12 b) 34

c) 24 d) 48

5. How many kilometers make 6000000 meters?

a) 6000 b) 60000
c) 600 d) 60

6. What is the 50" part of 8750007

a) 16500 b) 14500
c) 15500 d) 17500
7. John earns $ 376224 per annum, what is his monthly salary?

a) 32352 b) 31352
c) 41352 d) 51352
8. 664650 kg rice is distributed among 525 villagers. How much rice did each villager receive?
a) 1166 b) 1266

c) 1366 d) 2266
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9. Which greatest 6-digit number is exactly divisible by 98?

a) 999991 b) 999990
c) 999992 d) 999993
10. Divide the sum of 236750, 100787 and 406401 by 923.

a) 806 b) 805

c) 804 d 803
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